< 00, > (M)

<opyp, > ()

<o @> (rad)
o
=
a1

o
[N

o
N

.............................

o
o
TTTTTTTTT

+

=
o
iN

J 2 3
TPlpoT (PCA t%obeamlinélf)

< dcotl>)

..............................

0
10

1 TPlpoT (PCA

-

2 3
beamlinélf)

—=— DQM_V0001_R000000001__Global_mKFITOLD__RECO
—— DQM_V0001_R000000001__Global__mkFit100__RECO
—— DQM_V0001_R000000001__Global__mkFit100tobtec_ RECO

100r

[y
T TTTTTT T T T

.

[ay
o2
I8

1

"

&

100

—~

.............................

...........................

.............................

..

Ll

]

1

2 3
TPlp?T (PCA tjbobeamliné'f)




	Contents
	Page 1


